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SECTION — B (Marks 38
Q.2  Attempt the following Questions. (9 x 4= 36)

() [Raheel's income s 25% more than that of I \
‘Rauf. What percent is Rauf's income less than Evaluate 5
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(i) | if the stay of 14 men for 8 days in a hotel costs
Rs.22400.Find the cost of stay of 7 men for 13
days. Insert three A M. between 8 and 24.
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Gi) [if the wheat orop s produced 40000 kg by | o . gy vl
natural resources, calculate the amount of For the given sets verffy that (40 B)' = A1
Ushr, if the prics of wheat is Rs 950 per 40kg. |+ .o U={,2,34567389; -
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i{iv) | The list ?rice ofa TV is Rs. 12600. A discaunt it U={1,3,7} V'={2,4,6} then find out whether
of 5% is allowed on it Further, for cash ; . . . .
; o the given binary relations are functions or not.
payment, a second discount of 2% is given. Also mention itS type if it's a function ;
Hew much cash payment is to ba made for i e '
buying 7 R, ={{L4),3,6), (121 R, = {{1,6),(7.60(7,4.,4)} f;
‘ ixd ORI = L, x4
w5 L e s 12600 4 oz 1T 2 Sy fetalen U=037 V=246
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94,,_-,,,;,3{,1?'4?”4,4:;.*;“_1.{_ R ={(L9,3.6),(L DR, = {(163,(7.6),(7.4.G.4)

() |A cycie dealer marks a cycle with a price TNiake 5 Tabie of four pairs of value for |
which is 20% more than the cost price and | y = 4x—1.(Graph is NOT required)
offers 10% discount on it. Find the profit
percentaga. -5
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(vi) ICalculate the amount of zakat on 10 tola gold Three members of a firm divide the profit Rs.
tand 40 tola silver, if the rate of gold is Rs.40,000 67200 among themselves in the ratic 2.3.7.
‘iper tola and the rate of silver is Rs.5000 per Find each share. YWhat is the biggest share of:
tola. the profit?
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Wii) [Find the compound profit of Rs. 50000 at 4% f gross pay of a person is Rs4500C, then

for 1 1 caleulste his net take home salary, after |

RE L AR deduction of Rs.400 as income tax, Rs.1200 as
A | n . benevolent fund, Rs.1500 as G.P. fund and
(POt L 15 el el ad g 50000 | 4 0 | oR | Rs.400 as group insurance. o242
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If the total annual income of a ‘person 's Rs.

625000 with exemption of amount of Rs.
150000, then find the tax chargeable @4.5%on
the remaining income.
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The amount of a property left by a deceased
person is t© be distributed among his
daughters Rs.330000. If he had left three
daughters only, what would be the share of
each daughter?
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{ix)

Simplify the following'
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Draw Histogram for the following frequency
distribution,
(Use of graph paper is not mandatory)

Marks(as ta) 018 | 20-39 | 40-53 | 60-79

Frequency{um,s-w} 43 24 | 7 10
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SECTION — C (Marks 24)
Note: Attempt the following guestions. {3 x 8= 24)
Q.3 | The prices of two cars of 1300 co and 1600 If 4={2.4,6}B={3,6,9.12}C = {4,6,8,10} then
cc without excise duty are Rs 500000 and verify that AU(BUC) =(AUB)UC
t Rs 800000 respectively. If the excise duty on
these two are 200% and 250% respectively. jr A={2,4.618={3,6912C={4,6,810) /I
Find { ice of the bw inclusi ies.
hev pr[ce : o cars inclusive duties i AR BUC) = (AUBUC S et |
o Aed G AU UL 5160015171300 _
ALE AW Y S| il < s BO0G00 241 52600000
P 2 E Sk Ui e 32500000 J20002 et
- e T
Q4 | wWhat sum of money would produce Rs. For the given data find;
630.50 in 3 years at 5% compound profit? (a) Mean (b) Median
B 63050 U e d s o SO0, 8K (c} Mode (d) Range
AP 3,5,6,8,8,9,10
: 2x4 i 2x4
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| Q.5 | Evaluate oy using logarithms Find the nt term of & G P,
Z . L a4 4
(0.0437)° = (1.407) if ==— and a =—
T T 1x8 % 9 2x4
{0.0015)® x(1.235)7 7 .
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